DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
TEST 2
Time: Score: y—
) —3329+ 10 = 06824 + (—1) =
5 —3058.5 =5 = 1134074+ 9 =
3 325 =10 = 15) 5696 = 10 =
19 —0.9752 = 0.001 = 199 —1.045 =+ 0.01 =
5 —862.2 =92 = 200 —0.7904 = 0.01 =

6 662.34 7=

N —23361 =3 =

5 408.1 = 0.07 =

9 7.236 = 0.08 =

1) —459.36 =+ (—0.8) =
1 579+ 10 =

120 —46.15 +5 =

1) —59.64 + 10 =

1) —1.0086 + 0.003 =

15 488.7 = (—3) =

Mathematics: Division - Level 6 - Horizontal - Set 1
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—6085 = 10 =
~100.1+5 =
2121.6 + 8 =
—0.24792 + 0.006 =
17361 + 3 =
80532 = 9 =
2333.1 = (—7) =
—3514.5 + (—0.9) =
—1189.6 + (—0.8) =

47.124 = 0.09 =
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